Sr Questions Answers Choice

A. He considers it a practical joke
B. He did not rely on him

1 Why didn't Arthur agree to the offer of Mr.Steward pushing the button. C. He considered death of some
unknown person a murder
D. He did not believe him

A. electric iron

B. Push button unit
C. Radio

D. Watch

2 What was inside the carton fastened to a wooden box.

A. $25,000
B. $50,000
C. $5,000
D. $25,00

3 What was the reward for pushig the button.

A. Lift

. elevator
. Crane
Car

4 Norma locked the door and joined Arthur in the

20000
. 25000
30000
. 35000

5 For how much dollars was Arthur's life insured by insurance.

. National

. International
. Global

. Domestic

6 The organization is of ____ scope.

. Pocket book

. Sealed envelope
. Cabinet

. Carton

7 the key to the bell unit dome was inside a

Oven
Broiler
Freezer
Basket

8 Where did the Norma put the lamp chops

In the box

In the drawer

In the pocket

. In the sealed envelope

9 Where was the key to the bell dome unit.

Hall

Road
Garden

. Front door

10 Where was the package lying.
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